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PART-I

Child Development and
Pedagogy

Who was the first to try understand
individual differences?

A. Galton
C. Skinner

B. James Drever

D. Taylor

In the process of socialization of a child,
social values and the possibility of
social norms depend on what?

A. On child’s peer group
B. On physical growth

C. On child behavior
D.

On child emotions

According to Sigmund Freud, which of
the following mental gland is found in
the daughter towards the father?

A. Oedipus
B. Electra
C. Both
D

. None of the above

Such language should be made the
medium of instruction-

A. Dominated by the masses

B. One whoisrich

C. Useful for the job

D. To create a good environment

1.

2.

EICRCEACRCRN IR ]

Jafeheh T ol THEM o1 T Gad
Teet foReeh g foharm am?

B. S g
D. e

A. Teed
C. &I

foret o<t o THTSToRtoT <l SfshaT #
AR Heot S TS, ST sl
HTEAT forer o feit et 22

A, F=d % el g

B. YRR e ™

C. ¥%d % FTER W

D. = o "I

RRTHUS SIS o STTER Tt 7 fuar & i
frfearfad & & wi-dt A fees e s s
37

A. &g

B. Td%T

C. aAt

D. SWIh § & IS el

Ut TST T F376T T AT ST wTied-
A. S/ I STETeRT 7 SR 8
B. STHgeg &l

C. SRt & forr st &

D. @ 1= ardrewer o= doh
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Which strategy would be appropriate for
the study of children with special needs?

A. Involving more and more children
for discussion in class

B. Teacher guidance

C. Peer tutoring and co-operative
learning

D. Aptitude based grouping for
teaching

Who explained the four stages of
intellectual development of children?

A. Skinner

w

Piaget
C. Kohlberg
D. Erikson

What should be done to raise the
standard of education?

A. Pay higher salaries to teachers

B. Continuous evaluation of text books
C. Appropriate revision of syllabus
D

. Continuous evaluation of students

“Shortly after the birth of a child it can
be determined what it’s place in the
future is”- whose definition is it?

A. Ross
Adler

o w

Rousseau

©

Watson

5.

forfRTe STrervarehar dTet sl o ST o
- ST T IR BT

A. SITETH ST <l bl HET H ==l 8
gftafera T

B. 31eugeh g (e

C. @RSl gRT STFRTET0T qorr Teehrld
Fferm

D. ST o fold Jrar Semia
TR

N

STAhT o sifeaeh faenm it =i fafsr
ATET ! fora STaAmT 87

A. TR
B. foamet
. FEAT
. TiEREA

C
D
f3TeqT o ST T ST A o Tord =/ fomam
ST 3ferd 82

A. ITEATIHT T Iof A T

B. UTGAEh o1 Ead et

C. uTeushH § 3furd deies

D. ST T Had Aedieh

“fRT3] o ST o F© THY A1 & I8 [iEa
TR T wehar & fop wifersar o Sgept T =/
R17- 718 ufeTT feRwehl 82

A TF

B. USeX

C. &4
5 =

. d1ead
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10.

11.

12.

Which statement is wrong regarding 9.
human development?

A. Power and speed

B. Development is predictable
C. Training and learning
D

. Development moves from general to
specific

The objectives of continuous and 10.

comprehensive evaluation is not?

A. Transforming the teaching and
learning process in to a teacher
centred activity

B. Helping to develop cognitive,
affective skills

C. Emphasis on learning process
instead of emphasis on
memorization

D. Making appropriate decisions about
the learning process and
environment of the students

Whose name is notable in the field of 11.

education system for hearing impaired
children?

A. Annie Besant

B. William Jones
C. Helen Keller

D. Maria Montessori

“There 1s a modification in our 12.

fundamental behaviour due to learning
experience” who among the following
has given this definition of learning?

A. Gates and others
B. Calvin

C. Charles Skinner
D. R.S. Woodworth

HI-TT H AT b 3 Heier & TTetd 87
A. S SRR

B. forermer qatqie g 2

C. wivrerh iR sAfermy

D. foshm wmaT= @ fafite it 1R e 21

T T SATYh e TR T Ie% el 27

A. 99 TS TR ufshar o1 fireres
hirgd HRIHAT H SeaHT

B. STeITcHeh, WTaTcHeh ShISTe oh foehrd H
Hee T

C. I1E TGS W A a & dacd e hl
TTshaT O S AT

D. BT & € i TishaT Td qiEsT & a1
o e oy o

ST ST soail o ford fRTe saaree & &
T forerehT T ScctE 1 87

A. TH S8R

B. faferaw <=

C. T el

D. W Bl

“SATRRTH ST o 10T SR HifcTeh AIER
T HEE 21 AT i I aiemT
frefafaa & o forem § 22

A. T8 T I

B. ifcad

C. dTcd ThT

D. ¥R wH. gead
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13.

14.

15.

16.

Which factor is necessary for maximum 13.

learning spread among children?

A. Overload of work in the classroom
B. Excess of home work

C. Plethora of writing
D

. Personal interest in studies

“Satisfaction with the success of the 14.

action and dissatisfaction with the
failure”, it tells which law of
Thorndike?

A. Rule of practice
B. Rule of influence
C. Rule of readiness
D. All of the above

Who promoted the “Insight theory of 15.

learning™?

A. Pavlov

B. Gestalt Theorist
C. Jean Piaget

D. Vygotsky

What type of Questions are best? 16.

A. Children’s attention getters
B. Those that are accurate
C. Appeared in the last exams.

D. Help with trouble shooting and
finding solutions

STeTeh H SRR HTETH TR 3] hiH-aT
I JTETIF 27

A. FeTT-heT H T ot STferehar

B. T Sl Afershan

C. @A &t Aferehdr

D. T4 % Jfd Jafheh &

“fopa it AheTdT ¥ TATY Ud STEhetdl &
STEATY T 217 IE UHSTg o fore from
ol STAATAT 22

A. 3T & e

B. IvTa &1 faw

C. dcqLar =t {3

D. IwIw® &t

Hie o “3id:gfy faeata” 1 forae e
fezm

A. 9adAd

B. e foegiaaTd

C. S fommer

DRCIRIIC

forer e & e Ted T ST B 72

A. ST Sl ST €T TR LA a1t &

B. Stadar

C. oo wien @ st

D. HHEITTY 3R & Ge H FeRIal hi
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17.

18.

19.

20.

Which of the following characteristics 17.

are included in the nature of motivation?
A. Power Operation

B. Changeability
C. Continuity
D. All of the above

Inheritance of intelligence and 18.

personality-

A. Have an important role

B. Has anominal role

C. Have an unpredictable role
D. Has an attractive role

Which of the following statement shows 19.

the importance of intelligence and

intelligence test?

A. The role of intelligence test is
important in vocational guidance

B. Students are paved on the path of
progress through intelligence tests

C. Intelligence is a basis for selecting

various components of research, so
that are minimized

D. All of the above

Children whose family environment is 20.

democratic are relatively more than
other children-

A. Backward personality in educational
field

B. Extroverted and overactive
personality

Introverted personality
D. Weak and underactive personality

O

SRS % ey § MEfafad d @ shia &
ST gitgferd 82

A. Ik GeTe
B. uf@deiierar
C.

D. 3w aft

fe e ifehea e -
A. el ot 2

B. ATHHT T i

C. st i

D. 3TN firet &

itz wd qfeg wieror & wecd o Hfafead
4 O fore oo @ IdT Tt 82

A. stz e i sqfie s
qriesid § 378H Bidl B

B. Sfta wiernt grr S sl 3 o AR
X IR e STTaT Rl

C. 3IFqHU™ % iy =reehi & =3 8q
ez T TR Far B
D. 3wk &+t

St s==i & ufEr = SraraTer gSdites
BIdT 8, € 17 =il & STYeATehd AT &l
2

s a1 1 R et el
ferdl 3iC stfores Foperefien ey

F: T A fehed T

o o w >

FHSTT 3T shATRATIIST A fhed a1l
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21.

22.

23.

24.

When students are given an opportunity
to discuss a problem in a group, the
course of their learning-

A. Remains constant
B. Gets better

C. Decreases
D

. Remains the same

Inclusive class does not feature-

A. Real and continuous assessment
system

B. Use of friendly and friendly
behaviour by the teacher

C. Use of different aids for different
subjects

D. Overall students with the same
knowledge ability

The most important characteristic of a
good teacher in the upper primary level
is-

A. Eagerness to teach

B. Patience and perseverance

C. Proficiency in knowledge of
subjects

D. Knowledge of teaching method

If any student of your class is curious to
know about every activity happening in
the school, then you will have thoughts

about it-

A. He is backward student
B. He doesn’t like to study
C. Heis creative student

D. That student’s mind is in the game

21.

22.

23.

24.

forel) T o ==t S ohT ST S
ferentefalt s &g o o= ST &, 79 3ok
Hig 1 shH-

. Regar?
SEAL BT ]
Ty

Y &aT &

GHTSTT e <h farsiear 72 -
A. TTEfoIeh qAT Idd ATeheld hl ST

B. f31eter gr1 AT ue s suas R At
I

C. THT HerIeh ATHft T JANT ST AT
Fai

D. @y forameff s & I arwar aret

o i T W U o7 f3rereh o wer
HETequl forRIT &-

A. TG i IGHAT
B. & 3R ggar
C
D

o0 p

. Toro=rt & = o gamar
. Tarequr-oeta™ o I <Y gataT

gfe 3Taeht sheft o1 shis faremeff fomrmera &
B ATt 8L TTfaferter o o | St Rl
3G &1 8, AT Iqeh T 7 319eh forem
-

% fuser faamefi &

ITHT UETS B 0 el <hraT

I8 geeiter forameff &

3 foremeff o1 o9 @@ § T ®

0o w >
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25.  To what stage do personal and 25.

environmental factors affect learning?
A. Early childhood

B. Adolescence
C. Childhood
D

. Whole life

26. Pair the classification of children and 26.

their main symptoms.

Classification ~ Main symptoms

of children

i) Brilliant a) Low intelligence

i) Creative b) Problematic

iii) Backward c) Below average

iv) Learning  d) Inventor
disability

v) Mentally e) High intelligence
retarted

(i)-e, (ii)-d, (iii)-c, (iv)-b, (v)-a
(i)-e, (ii)-b, (iii)-c, (iv)-d, (v)-a
(i)-d, (ii)-c, (iii)-b, (iv)-a, (v)-e
(i)-d, (ii)-c, (iii)-b, (iv)-e, (v)-a

o0 W p

27. What is the number of fundamental 27.

tendencies with respect to momentum?
A 11

B. 10
C. 20
D. 14

A feheh TAT ATATIROT § Hei {21 SHehT o
TS STRATH 9T ford 3TareerT aeh g2t 82

A. & STeEEET
B. ferRIrsreen
C. ST
D. @Fquf St

SITCTeh! o ST S 3o S A& o
SISEEIED]

SITCTeh! T R @ 8T

i) wfawmemet a) = SfeaaTet
i) TEATH® b) THEIETS
i) e g ¢) 3Ed | fe
iv) AfFm e d) il
v) AMEHREIE AT e) Iod S AT

A. (i)-e, (ii)-d, (iii)-c, (iv)-b, (v)-a

B. (i)-¢, (ii)-b, (iii)-c, (iv)-d, (v)-a

C. (i)-d, (ii)-c, (iii)-b, (iv)-a, (v)-e

D. (i)-d, (ii)-c, (iii)-b, (iv)-e, (v)-a
S-St ol ST EeT o Hefer H foha
27

A 11
B. 10
C. 20
D

. 14
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28.

29.

30.

The teacher decides ‘what’ and ‘how’
much to teach the students. Under which
principle of education it will come?

A. Principle of definite purpose
B. Principle of interest
C. Principle of planning

D. Principle of selection

Generally essay type questions are used
to assess the students. These types of
questions have drawbacks-

A. Lack of reliability and objectivity
B. Not suitable for testing writing skills

C. Thorough evaluation not possible
through these type of questions

D. These questions develop
imagination

There is a close relationship between
language ability and intelligence, whose
statement is this-

A. Lowell and Markle
B. Speaker and Irwin
C. Fisher and Lamba
D. Terman

28.

29.

30.

BE T “FAT I “TohdaT Yer=T I, 39 o1

a1 ot 3TeTash Rt 81 I farerr o forr

foregia o Siaia TR

A. fafera sevr o faeaia

B. o faest

C. s = faegia

D. =& &1 fegia

qHT=I: HseTerss Tt oty fermefan

o AT o foT ToRaT STTAT 81 39 T

st <l @it a2

A. Trefrar ud s o

B. oG SIS & S o fod Tl e 2

C. 9 o o ST g 9t o Hed e
CRCE R RIRIGI

D. 37 I & SheuTeiietdr o1 ferhrd grar
2l

TS Haielt At TR Ra-afoy 7 =ufs

HeiET AT €, I Y -

A. Tl a7 Hehd]

B. TTSHT aT e

C. fhar qem A

D. @4
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PART-II

Hindi fe=ai
31, frult aTeRT STRrET ST h SAT-T-cl T 35.  Tqv’ I1e% i forcTmTeieh S o foTe ford
o forer ferg o1 ST foham ST 22 U T JANT HTT?
A. g form fog A ¥
B. I35 @ B. &
C. s 35w g C. &
D. &qug frm D. ¥
32.  yraf fammef w1 hdea @ o I8 3199 - 36. TG HINTET o AT HT GAAE T 2-
TE o T HTEHOT TW| 39 7 ¥ S Y
FIX S T <AMMET 3R T IR TS A A ToE
A Torameff = == fomam wen =nfey) e N
3GhT U Yferl 71| 2716yt faremeff & fore @rg .
S S B. % 3 e
AT | 38H 3 3TAT 56 T T it 2)
T Trerier 1 Sfera vides @ g C. g e
A. faemeff 37t oo
B. 1= farmeff o ur >3
C. forameff it swder
D. foremeff i fsfear
33.  myeT oneft 31T R ae | fohar forer et 37. amieft 3reg FATR?
I 2?2 A. TEIm
A. E TR B. Y01 R B. fofar-ferersor
C. Hfervdepdl D. ®HRT S C. &
D.
34. wwgﬁa‘r%‘) 38. forcfter =i &1 3Ieg B?
A. TTsgiE B. qUi ame A. faesht B. I¥
C. i D. ST § %o &l C. = D. deaw
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39. ot § drerr ot § AT oAy o7 B 44.  FeE 1eq H ol AT SHET T &7

A\. ST H TATHT S 0T H JHAH ST A sfd
B. S &d A ATt B. afy
C. TAdweH! g C. 3"
D. ST Y ST X GRT SR AR &1 D. st
40.  ETH | T S I AT 82 45. U ¥Teg foRAT T I |1 YRR 22
A B.3 A. Fad B. g foham
C. 7 D. & C. Wy fsrm  D. Swomels fopar
41, <aTgTfeTeRT AT TR & - 46. T Ye T T 38 -
A. 3 A. i & BT T
B. 3feral B. & 31 Tg0T AT
C. sl C. TU=TY UG o ITHATH FHEAT
D. 3 D. Sicdl-Sied] UTe WeH ]
42, FUSIA TR Seehd ST JeTal i 37 8- 47, S-Sftaq o it fer-me™
A. TR ST G BT & gt Ieft o e
e wa-fea 2 awm!
B. = aieHT I Ufh | i 3 fow g forer sher 22
) A S
C. e s B. Saer s & ah A
D. TUfuee =Ttk T TSI C. st
' D. AHa-f&d
43. TR A H Ik T8 I A1 82 48.  wgp foRe TRT HT EETH 27
A Ty A. TEI JEY
B. @ B. =T 7&Y
C. wife C. S| e
D. 3T D. $H ¥ &S -l
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49.  foparer =T fawor &9 2-

A
B.
C.

D.

50. YT S SIEW | A |1 AT 82
A
B.
C.
D.

51. - SITiiE ST ford SRR T SO 7
A.

B
C
D

52. g T&de W1 ! < 4’| 58 T | i &1

IENIEIE]

[EGIEED

IEGIEEIEI

IEGIEL

ELCICED
HegdTh
CINIEIEC)
foremnfeaers

T USRI
. forerwor SHeTR
. Toram forrwor U

. W IS T

R T 87

A

B
C.
D

SUTEH FHh
. "9SH HHh
oY HHh
. SATIHIOT Hh

. OIEcT o7 Y Sfiad 21 36l 3R W

ATt i S Tt BT 21 Siia WHTeHT
A STETSICE © AT AL, ifeht Hfeed 97T
% HTH STTeIeE 2 H1iecd ol 3TMe Siia o
Tt SIS & ST 2| ITERT TR G 3R
T § fieTar 21 aread § e 7E Y&
IR T U & firetar B, ST 31T =l g31iT-
I ST HITEed T 323 &

T TR W DT T TR 7 82

A, 3 &g Ty

B. <@ S o1 GuT

C. Ha IR & il I

D. I 3R vgd &l o

. QT o I U’ AlehIfh oh1 et 379 2-

A. TF J& 6 1 it

B. feafa o =g aftard &t gt
C. ufEds T

D. feufa r Sergmert W

. 9T sheret o feremeff § s foremre gar 22

A. dREHr

B. 3THg
C. JTERTTd &
D. €A o aw ST hl Tea hl &

. ST e el 37eR TRt o =R R

A dRuedalass
B. I T ied g8
C. o we afed g3
D. 7 & I3 T

202092-VZVVA-ELG-YKIXZ-E
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57. frmfaiRad & € % foaell w1eq o1 e 59.  HEr ree o BfifeiT T 22

%‘7 A. Hfemt
A 3K .
5. fash B. HWEH-
D. TS D. &l

58. e X wHa feequf StorT Fete o fog 60. e T TATETE IS8 I A1 82
ferer fere ferg ot ST fofar SfTa 22

A. FFhe
A. g g e
5 i B. UNmEE
C. @i g C. W
D. dreh-fewuft fag D. &
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PART-I1II

English

Read the following Passage & choose
the appropriate options given for
Que. No. 61-70.

The Critical Faculty is the most potent
one in the human make-up. Its
pervasiveness and force have not
properly been recognized because like
breathing, it is so much a part and parcel
of human activity. The difference
between a simpleton and an intelligent
man, according to the man who is
convinced that he is of the latter
category, is that the  former
wholeheartedly accepts all things that he
sees and hears while the latter never
admits anything except after a most
searching scrutiny. He imagines his
intelligence to be a sieve of closely
woven mesh through which nothing but
the finest can pass.

The critical sense is essential for
keeping social transactions in a warm
state. Otherwise life would become very
dull and goody-goody. The critical
faculty is responsible for a lot of give
and take in life. It increases our
awareness of our surrounding; it sounds
dignified, no doubt, but it seems also to
mean that we can watch someone else’s
back better than our own! We never
know our own defects till they are
pointed out to us, and even then we need
not accept them. We always question
the bonafides of the man who tells us
unpleasant facts. On the surface it is all
very well to say, ‘I want an honest
criticism; that will help me, not blind
compliments.” 1 wish people would
mean it.

61.

62.

63.

64.

ST
The word simpleton means-
A. Foolish
B. Intelligent
C. Simple
D. Drunkard
We always question the bonafides of the

man who tells us unpleasant facts.
The word in italics bonafides is used as-

A. Clause

B. Noun

C. Adjective

D. Preposition

Its pervasiveness and force have not
properly been recognized because like
breathing, it is so much a part and parcel

of human activity.

The word in italics pervasiveness is used
as-

A. Adjective
B. Noun

C. Conjunction
D. Adverb

The self-defined intelligent man defines
himself on the basis of-

A. His obvious divergence from the
simpleton

B. His superior intelligence as a whole

O

His possession of the critical faculty

D. His heightened awareness of his
surroundings
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65.

66.

67.

68.

People who solicit others’ opinions
(about themselves) generally want-

A. Effusive compliments
B. Honest criticism
C. Harsh facts
D

. Precise feedback

What, according to the writer, is the
essential link between breathing and the
critical faculty?

A. Both are required in social relations
B. Both are exercised by human beings
C. Both grow with age

D. Both stop with death

The negative side of the critical faculty
is that-

A. It makes us critical of others
B. It makes us critical of ourselves

C. Itsounds dignified but it is not
actually so

D. ltisatool for creating classificatory
division
The difference between a simpleton and
an intelligent man, according to the man
who is convinced that he is of the latter
category, is that the former
wholeheartedly accepts all things that he
sees and hears while the latter never
admits anything except after a most
searching scrutiny.

The word in italics simpleton is used as-
A. Noun B. Adjective

C. Pronoun D. Adverb

69.

70.

He imagines his intelligence to be a
sieve of closely woven mesh through
which nothing but the finest can pass.
The word mesh means-

A. Material that is like a net

B. Material that is like plastic
C. Material that is like cotton
D. Material that is like a glass

The critical faculty is defined as the
‘most potent one in human make-up’
because-

A. ltisall pervasive and powerful

B. It separates the simpleton from the
intelligent man

C. Itis a help in social transactions
D. All of the above

Read the following Poem & choose
the appropriate options given for
Que. No. 71-75.

The Laburnum top is silent, quite still

In the afternoon yellow, September
sunlight,

A few leaves yellowing, all its seeds
fallen.

Till the goldfinch comes,
twitching chirrup

A suddenness, a startlement, at a branch
end.

Then sleek as a lizard, and alert, and
abrupt,

She enters the thickness, and a machine
starts up

Of chitterings, and a tremor of wings,
and trillings

The whole tree trembles and thrills.

It is the engine of her family.

She stokes it full, then flirts out to a
branch-end

with a
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71.

72.

73.

Showing her barred face identity mask.
Then with eerie delicate whistle-chirrup
whisperings

She launches away, towards the infinite
And the laburnum subsides to empty.

What has happened to the seeds of the
laburnum (tree)?

A. All the seeds of the laburnum (tree)
have dried

B. All the seeds of the laburnum (tree)
have fallen

C. All the seeds of the laburnum (tree)
have germinated

D. All of the above

With whom has a goldfinch been
compared in sleekness?

A. Snake
B. Lizard
C. Snail
D. Alligator

Then with eerie delicate whistle-chirrup
whisperings

The word eerie means-
A. Strange
B. Simple
C. Normal

D. Assuring

74.

75.

76.

Of chittering’s, and a tremor of wings,
and trillings.

The word tremor means-
A. Shrilling sound

B. Sudden sound

C. Shaking movement

D. Steadiness

How does the goldfinch come?
A. The goldfinch comes silently
B. The goldfinch comes alone

C. The goldfinch comes with twitching
chirrup

D. All of the above

Which of the following is not one of the
criteria for assessing speaking ability, as
suggested by Bird and Dennison (1987)
in their four-point scale?

A. Pronunciation, use of vocabulary
and fluency

B. Response to the task with limited
communication

C. Grammatically correct structures

D. Ability to take initiative where
required and go beyond a basic
response
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77.  Miss Ranjana tells stories to her learners

in the class. She asks some questions
during the story. It is-

A. While-listening activity

B. Instructional checking question

C. For the sake of it

D. To control the class discipline

/8. Match the columns correctly-

A B
I. Descriptive i. Taking a point
writing- of view and

supporting it

Il. Narrative ii. Sequencing of
writing- events and
happenings
I1l. Argumentative iii.Of objects,
writing- people, events,

processes etc.
IV. Persuasive

writing- to change their
views

Which of the following is the correct
answer-

A, - =i, =i TV-iv

B. [I-iii, H-iv, HI-ii, IV-i

C. l-iv, H-iii, H-i, 1V-ii

D. [I-ii, H-i, Hl-iii, IV-iv

iv. Getting readers

Which of the following is not true about

the cognitive school of language

learning?

A. Learners need exposure to the
language

B. Human beings are born with an in-
built device in their brains which
helps them in discovering the
underlying rules of the language

C. Learners must be corrected as soon
as they make mistake in order to
avoid fossilization

D. For them language learning is
exposure to the language,
hypotheses formation, confirmation
of the hypotheses or re-formulation
of the hypotheses

Surekha’s family speaks Odiya and her
neighbours speak Chhattisgarhi. With
the passage of time she speaks Odiya
and Chhattisgarhi both fluently. Now,
in the light of the above phenomenon,
which statement is correct?

A. She acquired Odiya and learned
Chhattisgarhi

B. She learned Odiya and acquired
Chhattisgarhi

C. She acquired both the languages

D. She learned both the languages
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81.

82.

83.

Vidya is preparing for a competitive
examination.  While reading, she
underlines the Kkey-points, highlights
important facts, writes short notes in the
margin.

Such reading is called-
A. Scanning

B. Skimming

C. Intensive Reading
D

. Reading for pleasure or Extensive
Reading

Which of the following is not included
in the progress testing?

A. Informal Observation
B. Assignments
C. Projects

D. End term examination

Mr. Deepak finds a slow-learner in his
class. Which of the following actions
must he take to bring the learner in the
mainstream?

A. Give him/her more home-work
B. Give him/her one’s personal notes

C. Give him/her some scaffolding
through remedial classes

D. Ask him/her to take the help of
other students

84.

85.

86.

Hammnn the teaching of grammar is neither
necessary nor sufficient for learning a
second language. That is not necessary
is proved by the first language learner’s
success without it. That is not sufficient
is proved by the second language
learner’s lack of success.”

Whose proposition is this?

A. Chomsky
B. Halliday
C. Skinner

D. Newmark

Which of the following is not true about
a cloud-based language lab?

A. Every user’s device as mobile,
tablet or laptop is a learning unit

B. A physical language lab with multi-
media computers is required

C. It gives the learner spatial and
temporal liberty to learn the
language

D. The teacher can see the progress of
the learner from his/her own
personal device as mobile, laptop or
tablet

Mr. Kamal asks the learners to learn a
poem by heart and recite.

This exercise aims to
A. Improve memory
B. Integrate reading and speaking
C. Improve listening
D

. Increase concentration

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

202092-VZVVA-ELG-YKIXZ-E

19

Set- A



87. In an elementary class, while teaching 89.

‘speaking’, which of the following must
be avoided?

A

B.
C.
D.

88. Test of English as a Foreign Language 90.

Talking about an object or topic of
interest

Expressing a need for something
Talking about abstract ideas
Seeking and giving information

(TOEFL) or the International English
Language Testing System (IELTS) are
the examples of-

A

Proficiency Test

B. Placement Test
C.
D. Progress Test

Diagnostic Test

Which school of thought in the realm of
English Language Learning see the
errors as the part of learning process?

A

Behaviourist

B. Cognitivist
C.
D

. None of the above

Socio-linguist

Roshan can speak English and Telugu.
While speaking in English, he
sometimes uses the words of Telugu.
This phenomenon is called-

A
B. Code-switching

C.

D. Personal language habit

Code-mixing

Influence of mother tongue
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91.

92.

93.

PART-IV (A)

Candidates who have opted for
Mathematics/Science at the time of
application, should solve this section
and candidates who have opted for
Social Science at the time of
application, should not solve this
section.

Mathematics/Science

Solve the linear equation XT” =3-X

D. 2
3

Which of the following is correct about
Banking Model?

A. Teachers are proactive in teaching
B. It restricts critical thinking

C. First used by Paulo Freire

D. Knowledge is kept in repertory

A circle in which sectors represents
various quantities is called-

A. Histogram B. Frequency Polygon

C. Pie Chart D. Component bar chart

91.

92.

93.

S Srfleart = e & wwe i/ fomm
=1 forehed <A1 o1, o 36 9T 1 B oY SR o
SAfIEET o ST % T TR 7eaay
o1 forehed AT 9T, o 36 9T 1 A g1 o |

I GAERICT

e gt o1 gt Heptfetd

2
3

frefaRad & @ o a1 ST A F an §
e ?
A. freres sreamaa § e 21 2

B. Ig ATIEHTcH fia ol gfdsifera
AT &l

C. &d 9w qrsa fThudt 3 seamre fohan
D. I sl =raer § T ST 2|

oo g o Framere fafim afsmt =
iU s°tar 8, e e

A. e B. R S8y
C. TgaR D. ¥eHh IR A
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94.

95.

96.

97.

In the given picture DA L AB, 94.

CB 1L AB and AC = BD. Then which
the statement is true.
D C

A B
(= congruent)

A. AABCz= ABAD

B. AABC=z= ABD

C. AABO isright triangle
D. None of the above

Which two angles are not 9.

supplementary?
A. 30°and 150°
B. 5%and 175°
C. 89%°and91°
D. 23%and 177°

If S, =n?+2n, then find first term and
common difference. (S,,: Sum of
Arithmetic Progression)

A. 3,2 B. 3,8
C. 3,5 D. 2,3
The area of a rectangular fence is 500 97.

square feet. If the width of the fence is
20 feet, then find its length.

A. 125 feet
B. 25 feet
C. 2.5 feet
D. 50 feet

96.

fr e d, DAL AB, CB L AB 3R
AC = BD 2 a9 {9 # & 9 91 o 9t
27

D C

TatTE)
AABC = ABAD
AABC = ABD
AABO FHHIT T &
ISP | H oS T T8l &
I ¥ 3T HI0 I el 82
A. 30° 3T 150°

B. 5°3f175°

C. 89°3f91°

D. 23°3M177°

O o w>» >

afe S, =n? +2n , A1 TEAT UE T HETH
FHA 1A HIYY (S, : THTR 207t 7 A1)

A 3,2 B. 3,8

C. 3,5

T HATIATHR ST T &% 500 5 $ie 2
afe sTe Y =iers 20 I ® o TS I
shifery]

A. 12.5 feet

B. 25 feet

C. 2.5 feet

D. 50 feet

D. 2,3
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98.

99.

100.

101.

Subtract 6x +7y—2z from the addition 98.
of 3x+2y+3z and 4x—6y+5z

A. x+3y+6z

B. x-3y-6z

C. —x+11y+10z

D. x-11y+10z

Which of this statement is not true for 99.

right angled triangle (L denotes angle)
J

[«

MZK+MZL+ M £J=180°

-

Z L and ZJ are acute angle
MZL+M£J=90°

OO0 @ »

ZLand £Jare obtuse angle

The population of a town is 125000.
It is increasing at the rate of 2% per
annum. What will be its population

after 3 years?
A. 111551

C. 152650

B. 132651
D. 112661

The length of the side of the cube is
15 c.m. Find the total surface area of the
cube.

A. 900 cm?
C. 450 cm?

B. 1350 cm?
D. 1250 cm?

100.

101.

3x+2y+3z 3R 4x—6y+5z FIATH
6X + 7y —22 I =T

A. X+3y+6z

B. x-3y-6z

C. —x+11ly+10z

D. x-11y+10z

FAifeRd el H & HehIoT RSt o foTg
1T T T 22 (L 10T ohl ifehd LT 8)

J

L rK

MZK+MZL+M£J=180°
ZLAR LI=IHOTR

M/L+M/J=90°
/L 3R £ ) SAfhek I |

o w>»

foref) et hT ST E®AT 125000 © | R I=T

T SHEEAT 2% Tid 9y Hl WA Fedi 2 dl
3 GTel SIS T&T hl SIHEEAT foha+T BT T?
A. 111551 B. 132651

C. 152650 D. 112661

Teh I ol U8 &% 1T shiTSTU STeeh! Th
WSTT 15 &1 |

A. 900 g B. 1350 &?

C. 450 92 D. 1250 92
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102. Find the base area of cuboid whose 102. ueh gAY o TR T &A% JTd hIST,

volume and height are 900 m*® and 5 m fSreeRT TRIae 900 =Y qer 39T 5 H R
respectively. A , ,
A. 400 m2 B. 90 m2 . 400 =t B. 90 #t
C. 450 m2 D. 180 m2 C. 450+ D. 180 =

103. Primary data is preferred over secondary 103.  fgefferer ST X WTfieh ST ol Jrerfeehar &
data because- STt & Sifoh-
A. Itis concise and accurate A. JEafm iR ads 2
B. It contains no errors B. s@H SRS
C. Itshows greater details C. g 3fersh foaor femmar &
D. None of the above D. 3WIth § & IS &l

104. To develop mathematical thinking 104. aforcfier foremm forshférd &t o foTg T
experience (E), symbol (S), Picture (P), (3), Seteh (W), Tt (FR), SIS (8T 59T
Language (L) are used in the following Suei frer s 3 R s 2
sequence.
A. P,S LE A a5,
B. S,P,E,L B. W, =, 31,1
C. ESPL C. 31,9, f,w
D. E,L,P,S D. a9,/ ¥

105. The diameter and height of a cylinder 105. g fopet st =t = 28 Tt 37T I=TE
are 28 cm and 10 cm, respectively. 10 Tt & 1 39 ST T ST T B2
What is the volume of the cylinder?
A. 1960 B. 140 © A. 1960 n B. 140 m
C. 980 = D. 2800 &t C. 980 = D. 2800 n

106. IfA:B=2:3andB:C=5:7, 106. afc A:B=2:33RB:C=5:7%,
then what is the ratio A : B : C? dar A : B : C I 9 &1 &2
A. 10:15:21 A. 10:15:21
B. 2:3:7 B. 2:3:7
C. 10:25:41 C. 10:25:41
D. 10:5:3 D. 10:5:3
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107. The sum of four angles of any 107 foreft I o =i ST T AMT 360° BT,

quadrilateral is 360°, this thinking is ---- T8 GIEAT ommmem FHEATdT 2l
A. Generalisation A, STIhTIHTT
B. Specification B. fafsrieor
C. Comparison C. g
D. Assumption D. qeemomst
108. When classification of data is done 108. ST TSI hT AT T AT &A1
i;ﬁgg{ing to location or areas then it is Wﬁ;q‘rw%?ﬁgﬁaﬁ%%_
A. Qualitative classification A, TTeHS BT
B. Quantitative classification B. wHTcHe FrfferTor
C. Geographical classification C. etk afiertor
D. Chronological classification D. hICTshiteh sffohTr
109. What type of graph works best for 109. yfesra ger o T forer TehTE ot UM HeTer
percent type of data? TS Y AT 87
A. Pie Charts A, IR
B. Line Graphs B. T U
C. Histograms C. feemum
D. Pictorial graph D. gfea ums

110. Find the area of a triangle with a base of 110. ueh PIYST T &% I1d TS skt
10 inches and a height of 07 inches. JTN 10 T (inches) T 3TE 07 5

inches) 2
A. 35inches® B. 35cm? (inches)

A. 35 inches? B. 35 cm?

C. 35m? inches?
35m D. 3.5inches C. 35m? D. 3.5 inches?

111. If x=1, y=2 and z = -3, then find the 111. gfg x=1, y=2 3R z=-3

value of 2x%y —5x%y + 2z 2x3y —5x%y + 27 T HM J1d HITTY
A. 12 B. 12 A =12 B. 12
C. 19 D. -19 C. 19 D. -19
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112. The number of diagonals in a triangle

Cow>»

113. Evaluate the perimeter and area of a
semi circle having a radius 7 cm.

(where = %)

A. 72cm, 77 cm?
B. 36 cm, 154 cm?
C. 36.cm, 77 cm?
D. 72cm, 154 cm?

114. A man buys a cycle for Rs. 1400 and
sells it at a loss of 15%. What is the
selling price of the cycle?

A. Rs. 1190 B. Rs. 1000
C. Rs. 1290 D. Rs. 990

115. What rate percent per annum will
produce Rs.250 as simple interest on
Rs.6,000 in 2.5 years.

A 1

112.

113.

114.

115.

A 0

B. 1

C. 2

D. 3

7 Tt Fora aret stefaed sht ufifer o
&It ST ShITSTT, (STt n=§)

A. 729, 77 e

B. 36, 154 ot

C. 36, 77 Al

D. 72@), 154 &t

Teh SATEHT 1400 F. H Ush TTIehel TiedT 2
3R Y 15% T T W A=aT € | O 3Th
AT T forsher HeT /T BT

A. &. 1190 B. %. 1000

C. & 1290 D. ¥.990

2599 § 6,000 TIT 9T LT S oh &
T feraT wfaera anfier e & 250 ®9¢ I8
BT

A.3

|
ES
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116. Maths puzzles help at primary level- 116. yrerfireh TR X TG st wRferat Heg T 2-

A. To identify the meritorious students A. FeIT o YTE ST ! T8 A
of the class . )
B. To provide entertainment to the B. BHI Waﬁﬁ
students C. GHEITGAHAM o AT bl TG &G
C. Testing problem solving skills D. TS TA F BT Sl TedTeT 2
D. To encourage/ promote problem / S&TET 2
solving skills >
117. A cyclist travels at 10 km/h for 2 hours 117. ush grehel 99 2 5 7 10 ferei/sier 3iit
and then at 13 km/h for 1 hour. Find his 1 s T 13 fopftysier I ear & ) Sueht
average speed. e =eT T 29
A. 05km/h A 05 feefsa
B. 09 km/h B. 09 ferefi/sier
C. 13km/h C. 13 fordiserer
D. 11 km/h D. 11 forsi/eer
118. 2 118. 2
Find the value of (W) (3/@) T A J1d shiTT]
A 8 B. 16 A. 8 B. 16
C. 4 D. 2 C. 4 D. 2
119. Multiplication by a number is not a- 119. ueh e | U AT T AL 82
A. Mathematical procedure A. Tior fafer
B. Mathematical concept B. TR HeheuT
C. Mathematical function C. T wead
D. None of the above D. SWIth § i Tei
120. A frequency distribution that contains a 120. ush ST ferawor f@w <10 320 &
class with limits of “10 and under 20” 7 sk €T ATt 1 BId €, 1 e foig
would have a midpoint. A s
A. 10 B. 14.9 A 10 B 149
C. 15 D. 20 C. 15 D. 20
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121. A separation technique used to separate

122.

123.

124.

components from mixture of miscible
liquid is called-

A. Distillation
B. Fractional distillation
C. Crystallisation

D. Sublimation

The permeability of a paramagnetic
material is-

A. more than 1

B. lessthan 1

C. equaltol

D. much higher than 1

When two bodies move uniformly
towards each other, the distance
between them decreases by

6 metres/second. If both the bodies
move in the same direction, the
distance between them increases by
4 metres/second. What are the speeds
of the two bodies?

A. 11 m/s,5m/s
B. 5m/s,5m/s
C. 11m/s, 1 mls
D. 1m/s,5mls

Which of the following are correct
examples of compounds?

A. Water, air, sugar

B. Oxygen, sugar, water
C. Water, salt, air
D

. Water, salt, sugar

121, o vere o THeIoT & Teeht shi AT A &
FoTT SEcTe hi ST aITett JoreeRy dehieh
FHEAT &-

© >

122.

OO0 ®wW>» 4 OO

123.

A
THTSIT STTES
Ensagicau]
KZRIGE]

eI TSl hl TR 8-

19 AReR
K Ex

1 o S
1 9 95q AT

a1 fUUg UHEH &9 ¥ Th-gaL sh SR T

R 3 frer 1 gl 6 78 A 7 e
21 afe fhue weh & e & wrfer shed & 1 59k
Tzt gl 4 HY/A T W et 81 AT fyust
i e -

A
B
C.
D

124.

11 m/s, 5 m/s

. 5m/s, 5m/s

11 m/s, 1 m/s

. 1ml/s,5mls

frefcfaga 5 @ s 91 Aftent 1 ae

JETET 27

o w >

SNAEIRRNEETY
STFTS, IR, STl
ST, 4, a1
STe, -THh, Tl
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125.

126.

127.

128.

129.

The center of gravity of a triangle lies at
the point of ---------

A. Intersection of diagonals
B. Intersection of its altitudes
C. Intersection of bisector of angles

D. Concurrence of the medians

The angle between the incident ray and
the emergent ray of a prism is known as-

A. Angle of dispersion
B. Angle of refraction
C. Angle of reflection
D. Angle of deviation

What is immaterial for an electric fuse
wire-

A. Specific resistance of the wire

B. Radius of the wire

C. Current flowing through the wire
D. Length of the wire

Symbol of sodium is-
A. S B. Si
C. Na D. Se

The radii of curvature of the surfaces

of a double convex lens are 20 cm and
40 cm respectively, and its focal length
is 20 cm. What is the refractive index of
the material of the lens?

A. 5/3
B. 4/3
C. 5/2
D. 4/5

125.

126.

127.

128.

129.

B. 3 HATE o Ufd=ded
C. Il & fgaTrien o gfd=sed
D. HTIeART oh GITHT

from o smafaa fertor 3R ffa fomor & =

D. forre T

ferega RISt IR 3 foTq R AR 2-
A. ar = fafire gfaer

B. AR Bream

C. AR Y & It g’y

D. aR &l TaTg

aifeas o1 Tdieh -

A. S
C. Na

B. Si
D. Se

Teh SIEL 3T I hY gl shY Tsh e
SRAST: 20 AT, 3T 40 T, B) U BIhE
gt 20 W.HY. 1 9 3 were 1 ST

T BITT?

A. 5/3

B. 4/3
C. 502
D. 4/5
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130.

131.

132.

133.

Which of the following is the unit of
coefficient of radiant heat transfer?

A. W/m? B. W/mK
C. W/m?K D. W/K

In an a.c. circuit the voltage applied is
E = Eqsin(mt). The resulting current in

the circuit is | = Iosin(mt—g). The

power consumption in the circuit is
given by-

A. Zero
B. Eplg
2
C. Eglg
J2
D. Eplg
4

Checking of re-radiating heat by
atmospheric CO,,CH,, Ozone and

dust is known as-

A. Green-house Effect
B. Radio-active effect
C. Solar Effect

D. Ozone layer depletion

Persons with Type-AB blood group are
known as universal recipient, because-

A. Antibodies are present in their blood
B. Antibodies are absent in their blood

C. No Antigens are present in their
blood

D. Their blood lacks Antigens and
Antibodies

130.

131.

132.

133.

FrefTRaa o & shi-HT forfortor Hem Sfawor

o 1T 31 SIS &7
A, W/m? B. W/mK
C. wim%K D. W/K

@a.c.wa?ﬁﬁﬂ%ﬂa
E = Eg sin(eot) T SiTar 7, e aftaer
T | = lgsin(ot—X) am aedi 21 3 afhe
4 forsteft ot @ua arfl-
A I
B. Eglp

2
C. Eglp

J2
D. Eoly

4
CO,,CH,, 3T T e o RT3
?:Wﬂﬁﬁﬁﬁﬂ%%ﬁﬁ%—
A. TH ERE 99T
B. Ifea afsha yvma
C. "R I9E
D. 3fSH Wa fehisor

AB T H9g & Sith 1 & ITe] hed &,
FIiToh-

3G Teh H USTET ITT ST &

36k Th | UeIeTet T uTe oI &
SUERGGRRAR RIS IR
3Gk Th H T2ISH 3TN TSt QT Rl
TS BT 2

0o w >
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134. A particle executes S.H.M. of amplitude 134. o YT “a’ STTATH okl TS ST Tl L &I

‘a’. At what distance from the mean 21 mrey feufa & foraeht i ax g&eht it
position is its K.E. equal to its P.E.? mw&mw%wmo
A. 071a B. 0.87a '
C 09la D 0174 A. 0.71a B. 0.87a
C. 091a D. 0.17a
135. A body cools from 62°C to 50°C in 135. ws fig 10 fime T 62°C & 50°C e 37X
10 m?nutes and to 42°C in the next A 10 fire 7 42°C 9o ST R ST 21
10 minutes. The temperature of the &Y STTERT T AT B
surroundings is-
A. 16°C A. 16°C
B. 36°C B. 36°C
D. 31°C D. 31°C
136. Consider the following statement: 136. {7 st W o fifse-
) Coral reefs are tropical oceanic D wwﬁqﬁafsaéqﬁ’r?ﬁm
system found in shallow water. Hrfsen qricerfasht Someft &)
1) High Biomass production and floral, I =43 THIY SedTer ST TeR e
faunal richness are its specificity. ug Sfat i fafererar geht forsar gt
Choose the correct answer- el
‘ ) HET 3L T =3 FhifeTu-
A. Statement | is right .
: A. FHad FHUH [ TET &
B. Statement Il is right B. et o 11 Tt ¥
C. Both statements are correct C. i FuT S gl
D. None of the above D. 3w H & i T
137. Semiconductors those are created by 137, - rd=TeTen, et 3re=meres | qran
doping an intrinsic semiconductor with TSI Y ST ik SMTT ST &
donor impurities are ------- >
A. p-type A perd
B. n-type B. n-cTed
C. Aand B both C. ARBTH
D. None of them D. TR HE TS
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138. The resultant of two equal forces 138. reu oo (S0 I T A P ®)

P making an angle 6, is given by- 0 IV U HRITT | ST TR 2-
. 0
2Psm§ A opsin?
2
P 9 B. 0
COSE 2P cosz
2Pt 0 C. 0
an> 2Ptan
D. 0
2P COtE D 2P COtQ
2
139. When X rays pass through a strong 139. S/ X-forutt ot TfcrRTTelt Srerehi & |
uniform magnetic field, Then they- geifid forarm STam 2, df a=-
:. ([;o rljotﬂget d((jef.lec:]edda.t aII. . A %F%W oft Frsifre e it
. Get deflected in the direction of the .
field B. &= it fewm o faeifua enft
C. Get deflected in the direction C. & dhr foum st oo fewm & faraifoa
opposite to the field arf
D. Get deflected in the direction . FRER
perpendicular to the field D. &% fem # f5 Gl
140. How much part of solar energy, 140.  qeaft qeh U5 aTel! Hel G ISl b1 TohaHT
reaching earth is used in T YRTST T40T B ST 2raT 292
photosynthesis?
A. 1to 2 percent Approximately A 142 Hr
B. 10 tol12 percent Approximately B. T 10§ 12 Sfwrq wr
C. 50 to 60 percent Approximately C. T 50 & 60 Tfera 9T
D. 20 to 25 percent Approximately D. T 20 & 25 Sferera 9T
141. TCP/IP mainly used for- 141. TCP/IP Y& 9 & IWANT foraT STl 2-
A. File Transfer A, B3 TAHLT
B. Email B. 3-Hd
C. Remote login service C. WY I Gl
D. All the above D. SqUrh @t
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142. The correct hierarchy of life is- 142. 39 TS 1 U ohT B-
A. Organism, Tissue, Cells, Organ,

Organ system A. ST, I, PIRTERTT, ST, STTch>
B. CeII,Tissue, Organ, Organ system, B. SRR, Saeh, ST, 3T, Sie
Organism
C. Organ System, Organ, Organism, C. 3¥rad, 3, Sfia, sifresd, S9e
Cell, Tissue '
D. Tissue, Organ, Organ System, Cell, D. 30, 3, S, e, et
Organism
143. A current i is flowing in a hexagonal 143. uh WSTHR Fecll (VST a) H & i
coil of side a as shown in figure. The TaTEd BT W@ 21 heef % he W TEhT
magnetic induction at the centre of the > s
coil will be- ST BT-
0
I o
{ v
i 1
A 3\/§u0i B wol A. 3\/§H0i B. Hol
ma " 3J3ma na 3J3na
c _Hol D. VB c. o D. NE
J3na na J3ra na
144. Matter is composed of very small 144. ozl 5 B BIS HN § FHAR o1 81l 8
particles called- forr shed 2-
A. Atom B. Element A. TTHOT B. dca
C. Molecule D. Compound C. 3 D. Adfe
145. Nucleon represents- 145. et gt s -
A. Electron + Proton A. AFRME + TEH
B. Electron + Neutron B. ol + =g
C. Proton + Neutron C. WM +=gH
D. Electron + Proton + Neutron D. SoiFgH + 1M + =M
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146.

147.

148.

149.

150.

Identify the methods by which a magnet
can lose their properties?

A. Heating a magnet strongly
B. Repeated hammering of the magnet

C. Magnet is dropped from some
height

D. All the above

Edible part of coconut is a-
A. Pericarp

B. Endosperm

C. Complete seed

D. Seed Coat

Linchens are symbiotic collection of-
A. Algae and Bryophytes

B. Ephiphyte and Endophyte
C. Algae and Fungi

D. Moss and Fungi

Which one of the following computers
is the world’s first commercial

computer?
A. MANIAC B. ENIAC
C. UNIVAC D. EDSAC

The first overtone frequency of a

closed organ pipe P1, is equal to the
fundamental frequency of an open organ
pipe P2. If the length of the pipe P1 is
30 cm, what will be the length of P2 in
cm?
A 2

C. 20

B. 15
D. 30

146.

147.

148.

149.

150.

e ferferart ot o= =hd fomeh g <oreh
3T T[T ST T HeRAT 87
A. T HTH FA T
B. <erh i S § it W
C. oo s ¥ I W
D. 39 &l
T T T AT AT 2T 8-
A. S
B. {omy
. U

N

C
D. siSiTeor

A. SaTE 3R SRS
B. TRy iR 3iq: urey
C. 3T 3R FHash

D. H9 R Fdsh

Feffad o & I |1 et ‘q’ﬁmo Ea
TR ST H 2?2

A. MANIAC
C. UNIVAC

B. ENIAC
D. EDSAC

T g 3 I1gY ‘P1° Y Ueedl ST
HTS T Teh Gt T 9157 P2 Al WifcTsh
G o TR 8| AT T3T P11 AT AelTS

30 9. R, A1 P2 < e AT, § S gei?
A 2 B. 15
C. 20 D. 30
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91.

92.

93.

94.

PART-IV (B)

Candidates who have opted for Social
Science at the time of application,
should solve this section and candidates
who have opted for
Mathematics/Science at the time of
application, should not solve this
section.

Social Science

Emperor Ashoka did his first ‘Dhamma-
yatra’ to the following place-

A. Bodhgaya B. Sarnath

C. Pawapuri D. Lumbini

Akbar started a new revenue system
based on metering in the 24" year of his

reign. Its name was?
A. llahi system B. Ekta system

C. Muktai system D. Dahsala

Which of the following was Saint

known as ‘Gourang Mahaparabhu’?
A. Tukaram B. Tulsidas

C. Chaitanya  D. Vallabhacharya

According to the rules of Islam of
Muslim subjects, there was Mughal
official to oversee the Moral-

A. Qazi-Ul-Kujat
B. Ulema
C. Muhtasib

D. Diwan-a-Sadat

91.

92.

93.

94.

S Sufieam 4 3TdeT o qHT AT
STET 1 fIehicd T[T T, o 9 AT hl §A L
3T o SAfieam ¥ 31ee & ang
TfUTa AT =T forshe =T o, o 36 WIT
FTATE R

HTHTISTR 3TeTaT

THTE 3TN + UgAT eH-ImT fferiad
T U T -

A. ST B. @I
C. uramqd D. et
IFehe J 31U IO o 24 3 I GHTEIT T

AT Tt T STt I ht off,
JHHT AT AT?

A. AT FERAT B, TThI FAEAT

C. WhE=aaeT  D. TE4Tel
FrfcRad forer ©d sl TR HRT” el
STTAT T2
A, THH
C. a3

B. qodieE
D. Jeav=T

TEEHT ST T EATH R o STER
HRTT T FHTETOT S Tt Wi AR
oT-

A. FISf-3A-FsiTd
B. S|

C. Heaiés

D

D

. SlaM-T-ged
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95.

96.

97.

98.

99.

Sufi Saint Sheikh Ahmed Sirhindi 95.

belonged to which Sufi Cult?
A. Nagshbandi B. Kadiri
C. Chishti D. Ahmadiya

Which Maratha Peshwa signed the 96.

Treaty of Basin with the British in
18027

A. Raghunath Rao
B. Baji Rao Il

C. Madhav Rao Il
D. Balaji

Which leader of England describes the 97.

revolt of 1857 as the result of well-
planned and organized efforts? Called a
‘National Uprising’?

A. Disraeli B. Gladstone
C. Lloyd George D. Robert Peel

When did the Supreme Court issue the 98.

Vishakha guidelines considering
molestation of as a crime of violation of
fundamental rights?

A. 1998 B. 1997
C. 2001 D. 2003
When was the power of ‘Crown’ 99.

declared after the revolt of 1857 ending
the East India Company?

A. April 1858

B. June 1858

C. November 1857
D. August 1858

G Hd 3 3TgHE Xfewal ford gl TrsEr
% 97

A. THEEr
c. fafs

B. hifedt
D. 3reHfean

forer ARTST URTaT 3 ST oh 1 FTE AT
wfer 1802 1 &t off?

A T T

B. srsiie fgdrr
C. druavE fgdia
D. srersit

1857 % foreera =t $ici o foper Jar =

G Te GEiSd SR T qioms
AT g U U fomig” et o

A. fesref B. ™ERN

C. dMS S D. T diet

Txfe e 3 e T § Afeensti F DSBS
1 Hifeteh STRIRRT ST B T UL A
ret fererran feem féer sher S foma

A. 1998 B. 1997
C. 2001 D. 2003

1857 & foreetdl o weiTd $&¢ Sfea st
TAT GHTH T, TS ohl TT ahl TTYAT ehi
EITYOTT ohel <h TTT oft?

A. 3T 1858
B. ST 1858

C. TamR 1857
D. 3T 1858
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100.

101.

102.

103.

104.

The following factors were not among 100.

the factors affecting the caste system in
British India-

A. Industrialization
B. Western Civilization
C. Caste Panchayat
D. English Education

According to Kautilya’s Arthshastra 101.

who was ‘Kshetrak’?
A. Soldier B. Landlord
C. Border guard D. Priest

Which of the following subordinate 102.

Rajput kingdom had no matrimonial
relationship with Akbar?

A. Jaisalmer B. Bikaner
C. Banswada D. Amer
According to Vedic literature, which 103.

sacrament took place at the end of the
student life?

A. Four Pledge
B. Upanayan
C. Jatkarm

D. Samavartan

‘Sama’ is one of the means of achieving 104.

unity with God in Sufi religion-
A. Fasting

B. Sankirtan

C. Meditation
D

. Non discriminatory

fsrfesr srrefia v § strfa-sgereen st
T i STt hehl | (HHTRad shieh
e o1

A. STenfieRr

B. UITT G¥IdT

C. Sfd v=md

D. Uit faref

I 6 STTH F STEN & o
HET ST 912

A. 8= B. st

C. #miw®  D. qfed
frAfeTRare Stfereer T TS o 3Tehert
T IS JaTieeh Heley e -

A. SETER B. foR

C. sigarer D. 3™

Sifcen wTfeca o TR formeff Sfam gwm
T T R I | HET BT A7

A. =R g

B. 3udIq

C. Sraed

D. duTEdH

T o T 4T W TSHICH ITH L o ETeE!
A. 39918

B. @i

C. &

D. Wg-wre Ifed
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105.  The following reasons can not be 105, aegfies s & SeRIeRTT Sfsha o e |
considered for the development of fAferfad st 7 gt St @-
Urbanization in modern India- )

A. Cultural traditions A < .

B. Commercial center B. oA %

C. Development of communication C. TR uremi o foremme
media D. apfi & e T

D. New experiments in agriculture

106.  The culture found in the following place ~ 106.  fefcTRaa worm © wTH Heapell TS IR
is considered as Post-Harappan Culture- &Rt -

A. Belan ghati Culture A. ST T g6
B. Quetta valley Culture B. aéz‘rsmﬁgwﬁ[
C. Jhukar Culture C. FFR TR

D. Sotak Kot Culture D. HIdeT i HERId

107. Which of the following king established 107, feferfiaa & & forg Tt  aferor-gelt Tfmn
the Indian Empire in Malaya in South- F TATIT H T STHTST sht ST Sy o7
East Asia?

A. Samudragupta B. Shailendra A FEAT B. ¥
C. Kanishka D. Mahendra C. hffwh D. W&

108.  Which king is mentioned in the 108.  srole H g9 USTTSAT o Hel o §1Y e il
Rigveda, who fought with the union of Tt TR TSI ohT AT 2ATaT 22
10 kings? )

A. Indra B. Sudas A B. ¥
C. Bharat D. Vaishva C. W D. S

109.  Name the Author who Translated 109.  dwrcia ST WHICET WTHT & STATE i e
‘Panchatantra’ into Persian language- ICER A
A. Badayuni A. SerRHY
B. Abul Fazal B. 3fSd Wil
C. Dara Shikoh C. SRR
D. Faizi D. it
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110.

111.

112.

113.

114.

The name of the first Saint of the Bhakti 110.

Movement to tell the means of Salvation
was Bhakti-

A. Ramanand

B. Kabir

C. Nimbarkacharya
D. Ramanuj

The East India Company had entered 111

into agreements with the Indian princely
states on the principal of equivalence.
What was this policy called?

A. Policy of ‘Ring fence’

B. Policy of Equality and Struggles
C. Equality and Isolation policy

D. Policy of Federations

When was the ‘Balshram Unmulan 112.

Pradhikaran’ created for
implementation of child labour policy in
India?

A. 1994 B. 1987
C. 1978 D. 1974
At which place did the Dharma-Sabha 113.

of Jainism took place during Gupta
period in 453 A.D.?

A. Kannouj B. Prayag
C. Amrawati D. Vallabhi

The main source for knowing the history 114

of Emperor Ashok is inscriptions, how
many records of his Aramaic language
are found?

A 5 B. 7
C. 1 D. 3

Tfh T AT Ak TR ST Witk
ST o T Ed hT ATH -

B. st
C. fraem=md
D. THES

he)

St e PO 3 aeRetaT & fegia W
YRl FTerd o |rer geeiiar fomam o, 39
HrfY SRl =T <heT T OT?

A, geem syl Hifd

B. THMdT v ey i fifa
C. THMT Ud qrefer fifa
D. @e et ifa

IR | STersm i o foramee o forr
“STAHH I STTTHTUT shel ST 7T

A. 1994 B. 1987

C. 1978 D. 1974

SEAT 9 453 TTHRICT H ST G hT gH g
for® T H g of?

A. FN
C. IHad!

B. JITT
D. deadt

HHTE TR o6 3R ST 1 H&F Hld
Afirerg B, 3Heh STTHTSS VT o foha
Irfirerg 9Te 82

A. 5 B. 7
C. 1
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115.

116.

117.

In which article of Indian Constitution, 115.

Power of President to consult Supreme
Court is been described?

A. Article 124
B. Article 143
C. Atrticle 134
D. Article 164

Economic Justice is one of the objective 116.

in Indian Constitution, it is described in-
A. In preamble and fundamental rights

B. In preamble and directive principles
of the state

C. In fundamental rights and directive
principles of the state

D. None of the above

Consider the following statements 117.

regarding Rajya Sabha

I) Rajya Sabha is a sustainable
organization.

I1) About one fourth of its members
retire every second year.

[11) Each member is elected for a term
of six years.

A. Statements | and Il are correct
B. Statements | and Il are correct
C. Statements Il and 111 are correct

D. All statements are correct

TS T ST AT | HATE L
Tk %1 Ieere Hioe™ o fohe 3T7=es | &7

A TeT 124

B. 31T 143

C. 31f=aq 134

D. =T 164

VR o EfeTe o Sewdl § & U “3Tien

AT ST IR Tefa T/IT 2-

A, ST QT Hifore Sferepn o

B. TS a1 TS o Aifd-fesmes
featar #

C. wifcToh HATERRT AT TS o ATd-FHaweh
Rregtar 7

D. IWRh & & FIE T

g&rw%mﬁﬁm%aﬁaﬁwﬁﬁr{

) TST T Uk Tt e oTelt T 2|

1) 39 T =TeTs Hae ot gul Oy
Tanfed 2 2

III) ST TAT F GSEAT T IS 8 qied
T et 2

o 1 37 11 Tt 21
e 1 3T 111 92t 2
O 11 3T 111 T R
wuft o W R

S o w »
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118.

Consider the following statements 118.

regarding the Governor-

I) He gives resignation to the Chief
Justice of the state.

I1) Must be at least 35 years of age.
[11) His emoluments, allowances and

TSIUTA o Gaer | fFifend st W fomm

forfsa-

1) I AT AN TST o & =izt
T TEIA AT 2

1) JHEhT TR W & FH 35 T4 I gHT
==Y

discretionary powers are allocated IT) SeehT aferfsert, st ai fersrimesrt
by the president. ’

o y " P tements. a1 frerteor, Trsgufa g fokam stmar 21
oose the wrong statements: j ¥ e 5

A. land Il INBE 8

B. Iland il B. IRl

C. I, 1land I C. LIIsRII

D. All statements are right D. &y 9 gl 2

119.  Consider the following statements: 119.  fAmiferd el W fomm Hifsg -

I) The six fundamental rights are T) S o el 9 § o Hifers
described in the Part-111 of Indian A A seera Bre o 2|
constitution ) . .

II) Fundamental duties were not 1) A Hfererr & et Fefecit br S
described in Indian constitution ERRERIRIDIE]
originally _ A. FIT TR

A. Statement | is correct 3

B. Statement Il is correct B. o 1W<l .

C. Both the statements are correct C. e [ ST 11 ST &l &

D. Both statements are wrong D. &M &l %F TTed 2

120.  Which of the following committee 120.  foifora & @ i @t wfbfa shaet et geq
belongs only to the lower house? COR-Y)

A. Assurance committee A. 31ETE afufa

B. Delegated legislation committee B. garitSa faum geeft afufa

C. Committee on public undertakings C. e 3wy afufa

D. Estimates committee D. Teeheld Gfufd
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121.

122.

123.

124.

125.

Fundamental right which is also 121.

provided to the foreigners?

A. Equality of opportunity in matters of
public employment

B. Protection in respect of conviction
for offences

C. Right of minorities to establish and
administer educational institutions

D. Freedom of speech, expression,
assembly, association, movement
and residence

In which Article of Indian constitution 122.

‘Right to constitutional remedies’ is
described?

A. Atrticle 32
C. Article 30

B. Article 31
D. Article 34

Which of the following landform is been ~ 123.

made by river?

) Gorge

I1) Canyon

I11) Oxbow lake

A. land Il B. land Il

C. Iland Il D. I, lland Il

State with highest population density in 124.

India is-
A. Maharashtra B. Bihar
C. Kerala D. Uttar Pradesh

Ozone layer is found in which part of 125.

Atmosphere?
A. Troposphere  B. Stratosphere

C. Thermosphere D. lonosphere

UHT 9T AR ST forawfia st +ff e -
A. e e o fomar o st < g

B. S{UUEl o fo7C qraferedt o geig o
e

C. IICTHEIH] ol SeF(OTeh EATAT ht

TATOHT 37T ITTEH T HTIHR

D. e, ANeafh, Trifaqel getem, ety
ferertor vl fHame e g s
AT

TR | o foh tg=ee | |ifaare

I o SRR T Il 27

A FF=E32  B. 3gwe 31

C. 3q=e30  D. 3fI=< 34

frrerifer & & i €T -3 7t g

ST STt 82

) Tist

) o=

I1T) TR e

A. 1TEF I B. [TaH II

C. IITaH I D. I, 1 T&¥ III

TR T 18Ik SEEAT Tcd JTdT TS 2-

A. RN B. foer

C. & D. W 9w

HISI sh Ul SHUSH H ol T qX el
STt 27

A. muse B. @wdM HUSA

C. dmuHuSeA D. 3EHvSA
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126.  Where is the ‘Gaj’ fort located in 126. 1 foreT SeTerTg W el [Rd =82
' 2
Chhattisgarh A B.
A. Jashpur B. Bastar °
C. Ratanpur D. Mainpat C. wg D.
127.  Where is Asia’s largest tamarind market 127.  ufsrrn < o9 o) st 4l R 22
2
I;Jcaseda | B. Sarguj A ° 5 ¥
. Jagdalpur . Sarguja T
C. Rajnandgaon D. Saraipali C. T D. e
128.  Which of the following is known as 128.  fowifora & @ fordt a1 e7eaiar oft she &9
(13 H ,’f)
AHoIrEse Latlt_u:jT . " A %o el e T )
. Equatorial low pressure belt
A 7 owP B. SUIWhisE T Iaere i Ut
B. Sub-tropical high pressure belt
C. Sub-polar low pressure belt C. g = arel 1 9
D. Polar high pressure belt D. gaﬁﬁs?vra@msﬁﬁz"r
129.  Who has been conferred with the 129.  3eiege ST I WS (IES) T3
Prestigious ‘Udyog Ratna Award’ feeett grr wfafsa san @ o Rl
by the Institute of Economic Studies,
New Delhi? ST 1o T 87
A. Prem Sagar Mishra A. S| EET e
B. Prem Ratan Mishra B. 9 ad fasm
C. Prem Sai Mishra C. YT fien
D. Prem Singh Mishra D. SR R
130.  Where is the “Semarsot” sanctuary 130. quTEId ITINUT FEl RXud 22
located?
. A. S STgL B. SRIT
A. Bijapur B. Jashpur > o
C. Sarguja D. Kawardha C. & D. shereit
131. Who composed the praise of (Vishnu 131.  #RmY areeT gRY FTie foRgw 6 (fore
temple) Laxman temple of Sirpur tifer) wremor it i yerfed e e fom
established by Maharani Vasata? off?
A. Kavi Narayan '
B. Kavi Ishan A. HTAEOT B, Hid M
C. Kavi Tej Bandhav ’
D. Kavi Rewaram C. Fqq T D. Ff w@w
SPACE FOR ROUGH WORK / T @t % forar e
202092-VZVVA-ELG-YKIXZ-E 43 Set-A



132. Match the highest peaks with main
mountain ranges of India:

a) Aravalli Mountain 1)  Anaimudi

b) Nilgiri Mountain 1) Guru-Shikhar
c) Satpura range I11) Dodda-betta

d) Western ghats IV) Dhupgarh
A. a-l, b-1l, c-1ll, d-IV
B. a-IV, b-lll, c-II, d-I
C. a-ll, b-11I, c-1V, d-I
D. a-lll, b-Il, c-1, d-IV

133.  In which year did the ‘revolt of
Bhumkal’ take place?
A. 1900 B. 1910

C. 1915 D. 1920

134.  Where is ‘Chingrapagar’ waterfalls
located?
A. Bastar

C. Gariaband

B. Raipur
D. Sirpur

135. Which of the following Litterateur is

known as the ‘Vidyasagar of
Chhattisgarh’?

A. Hari Thakur

B. Nand Kishor Tiwari

C. Pt. Ramdayal Tiwari

D. Pt. Lochan Prasad Pandey

136.  Which Indian States make border with

China?
A. Arunachal Pradesh, Sikkim, Manipur
B. Sikkim, Manipur, West Bengal

C. Arunachal Pradesh, Sikkim,
Himachal Pradesh

D. Arunachal Pradesh, Assam, West
Bengal

132.

133.

134.

135.

136.

W ol 7 T 20Tl J 3o Hoidl el

T % gHfera HifT:

a) EAT GG [) RIS
b) fafftwda 1) Te R
c) Tagsr Aot 1) SIeTsRT
d) afereft =me V) gug

A. a-l, b-Il, c-lll, d-1V
a-1Vv, b-111, c-1, d-1
a-1l1, b-11, c-1V, d-1
a-1, b-11, c-1, d-1IV

“HeRTS T TorsTe” forer & 1 g7 o

B.
C.
D.

A. 1900
C. 1915

TR STeraTe el feud 22
A, FE&ET B. TIR

C. TS D. R

1 & @ forg Anfecaeni i “Se1ee &

foreTemTe” A1 |97 & STt 82

B SR

g fopeme feramd

q. weaTe faard

o, S TS Uied

T % -1 T T <14 il Sy & o
gUR?

A. RO Yo, Fferenm, Ao

B. fafesrw, wiorgy, d. simer

C. T o, fafery, feareer wam
D. 3TEUITEe ST, 3T6M, ©. siTTet

B. 1910
D. 1920

O 0o w >
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137.

138.

139.

140.

141.

What does Lateritic or laterite soil is
called in local language?

A. Bhata B. Kanhari
C. Domat D. Matasi

Folk song “Leja” is mainly sung in
which tribal dominated area of
Chhattisgarh?

A. Sarguja
B. Koriya
C. Jashpur
D. Bastar

India’s first nuclear power plant is-
A. Tarapur

B. Kalpakkam

C. Rawatbhata

D. Kakrapar

Moho Discontinuity is found in-
A. Between Crust and Mantle

B. Between Mantle and Core

C. Between Outer and Inner Core
D

. Between Atmosphere and
Lithosphere

You observe that students exhibit
prejudices in social sciences class. What
would be your most appropriate
response?

A. Bring the chapter to a close

B. Organize a discussion on the
dimensions of social reality

C. Ignore these comments
D. Reprimand the students

137.

138.

139.

140.

141.

Aeifeeh AT TS et shl T v |
*ed 8-

A. o B. el
C. ae D. HerEt
AT “TISIT”, BTG o T -8
AT SIge &1 H AT STt 72
A. GO

B. wifam

C. SRIR

D. &R

VTR 3T T8 TRATY] Sl 6T 8-
A. TR

B. soiudRy

C. Taa9rer

D. SRR

el TR TRt ST 8-

A. NS TIH HUed % St

B. HUeH 3 &R & &=

C. eI UaH 3Tdieh i & 7
D. IRHUSH 3R TAAHSH o el
A @ for v gt faga fr e |

I YelRid i 8| SAToeh! Jerl SUh
sferforam s Bt

A. ST Hd A4

B. gHfSieh Sredfaendr & ST 9 ==t
T TSI hL

C. HARWiRI R a3
D. BTl BhN
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142.

143.

144.

145.

What is recommended to use, when the 142.

topic or an area of a course contains a
lot of information?

A. Lecture method

B. Inquiry-based method
C. Cooperative method
D

. Assignment method

The technique of classroom 143.

management where the teacher punishes
negative behaviours by removing an
unruly student from the rest of the class
is called-

A. Extinction technique
B. Satiation technique
C. Time out technique
D

. Corporal punishment

Group Project work helps in 144.

developing-
A. Strong intra-group competition
B. Individual sense of achievement

C. Collaboration and problem solving
skills

D. All of the above

The idea of practical learning in class 145.

means education should apply to the-
A. Practice B. Society

C. Abstract knowledge D. Real world

AT ITANT A hT STFET Al STl &, STl
FerEft oTrshH o foreer T & # S At
SRR BT 82

A. STEH ot

B. I&dm® i oty

C. weehrl fafer

D. rmEHe fafer

T TSIEH ohl I8 dehr1eh (ST {3787 Teh
AT BT ol T T H TR
ThITcHeh I8N ohl SSd hdT &,

AT &-

A. Te g st etk
B. Hqfd dehHieh

C. 2ZTEH 33 dF1eh
D. swiftwde

AHE NSS! T HIH T forshierd e
Hag AT 27

T T AT 13187 o fore 7 379 & foh
e forer o AmY BT =R

A. IH
C. 3F[d 3™

B. @uSl
D. am?ﬁgﬁm
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146. A teacher must attempt to focus on 146.  ush f3rere oAt ATETIST TR UeTd W fhe
what, while teaching Social Sciences? T ST hiSd S T ST AT TTrew?
:. ,EOCUS upon ;emembclerlng th; details AR T T T
. Focus upon facts, values an . . .
C. Focus only upon facts, but not on C. el q2dl T &M <, Wfeh qedl T
values =
D. 1|‘:aoc?sjs only upon values, but not on D Wﬂﬁw or 3, et o 7
147.  Project method is based on whose 147.  giESHT veefd fohdeh saTaTiies g3 o
pragmatic philosophy? aqrenfid 29
A. John Dewey B. Stevenson A. ST B. o
C. Kilpatrick D. Marker C. forerifesn D. HIH
148.  Which one of the following is the new 148.  fymferfad o @ = amTioes fogm 5 78
concept in Social Science? ST &2
A. Accumulation of factual information A ASITHF THFRT T T
B. Study of social customs B. g Gfd-RaT=it a1 31e9a=
C. The study of human relations and C. g 94} 3T g1t b Sgdd 1
betterment of society T
D. The study of international relations D. SiqursdR st s e
149. A scoring guide use to evaluate the 149.  SrT hY TUTERIT ShT HEA TR i o [T
quality of students is called- SYINT bl ST STedt ShITT 1SS i hal
A. Rubrics B. Checklists
A. &5 B. i
C. Inventories D. Rating scales C. = D. Y ohar
150.  The new curriculum should be 150. 1 qrg@shH 7% foha ST =TRT-
Introduced- _ A. IR B. TR
A. Abruptly B. Continuously N -
C. Gradually D. Relatively C. &R D. AT
SPACE FOR ROUGH WORK / T @t % forar e
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SET-A

3T Sifehd T T O 2.30 & rferehad 31k : 150
Time for making answers : 2.30 Hours Maximum Marks : 150
qNe:

1. 38T qftaent & e o g -
(i) TR T ;- areT forenter wet fOrem vrer 1-30 wer

(i) fEdrT v - =t 31-60 I
(i) AT W ;- S 61-90 I3¥
(iv) =rqel W - (37) TrivTa/fem 91-150 I2T

() AN reqaqT 91-150 IH
(30) Ta (@) W O forelt vk fomr swr s AT B
2. T % I, F T$ OMR I-IE (Answer Sheet) TR 3ifera T |
3. SHUTTCH, Hodieh Tl ohaT SITeRTT |
4. Tore off T o HeTHIe AT AN TS TS WIATSEA Wi T SERT I § |
5.  OMR IT-31 (Answer Sheet) ST THNT i THT THT T FAATEUTT T Tl @ a8 we T ar
IOH i 91 firerare otfe s S T aE TRE T W |
Note :

1. This Question Paper consists Parts namely :-

(i) First Part :- Child Development and Pedagogy 1-30 Question
(it) Second Part :- Hindi 31-60 Question
(iii) Third Part :- English 61-90 Question
(iv) Fourth Part :- (A) Mathematics/Science 91-150 Question
(B) Social Science 91-150 Question

Choose any one Subject from (A) & (B)
Indicate your answers on the OMR Answer-Sheet provided.

No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.

o~ N

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds or wrinkles.
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